

Determinar a y b para que

$$f(x) = a \cdot \sqrt{3x+3} + 6 \cdot \sqrt{x-1}$$

tenga un Punto de Inflexión en $(2, 8)$

Por tener un P.I. en $(2, 8)$:

$$(I) \quad f(2) = 8$$

$$(II) \quad f''(2) = 0$$

$$\text{De (I):} \quad 8 = a \cdot \sqrt{3 \cdot 2 + 3} + 6 \sqrt{2 - 1}$$

$$\boxed{8 = 3a + 6}$$

(II): Necesitamos $f''(x)$

$$f'(x) = a \cdot \frac{3}{2\sqrt{3x+3}} + 6 \cdot \frac{1}{2\sqrt{x-1}} =$$

$$= \frac{3a}{2\sqrt{3x+3}} + \frac{6}{2\sqrt{x-1}}$$

$$f''(x) = \frac{0 \cdot 2\sqrt{3x+3} - (2\sqrt{3x+3})' \cdot 3a}{(2\sqrt{3x+3})^2} + \frac{0 \cdot 2\sqrt{x-1} - (2\sqrt{x-1})' \cdot 6}{(2\sqrt{x-1})^2} =$$

$$= \frac{-2 \cdot \frac{3}{2\sqrt{3x+3}} \cdot 3a}{4(3x+3)} + \frac{-2 \cdot \frac{1}{2\sqrt{x-1}} \cdot 6}{4(x-1)} =$$

$$= \frac{-9a}{4(3x+3)\sqrt{3x+3}} + \frac{-6}{4(x-1)\sqrt{x-1}}$$

$$(II) \quad f''(2) = 0 \Rightarrow f''(2) = \frac{-9a}{4 \cdot 3 \cdot 3} - \frac{6}{4 \cdot 1 \cdot 1} = \frac{-a}{12} - \frac{6}{4}$$

$$-\frac{a}{12} - \frac{6}{4} = 0 \Rightarrow \frac{-a-36}{12} = 0 \Rightarrow -a-36=0$$

$$\boxed{a+36=0}$$

Con las dos ecuaciones:

$$\begin{array}{l} 3a + b = 8 \\ a + 3b = 0 \end{array} \quad \left\{ \begin{array}{l} 3a + b = 8 \\ \textcolor{red}{(-3)} \quad \underline{3a + 9b = 0} \\ \textcolor{green}{\text{Restando:}} \quad -8b = 8 \Rightarrow \boxed{b = -1} \end{array} \right.$$

$\curvearrowright a - 3 = 0 \Rightarrow \boxed{a = 3}$